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ZOOLOGY
(General)

Paper Code : ZGT - VII - A & B

[Applied Zoology and Biostatistics &
Microbiology, Parasitology and Immunology]

(New Syllabus)

Full Marks : 50 Time : Two Hours

Paper Code : VII - A

(Marks : 10)

Choose the correct answer.

Each question carries 1 Mark.

1. Which silk is copperish in colour?

(A) Mulberry silk

(B) Tasar silk

(C) Eri silk

(D) None of the above

1Ð ˜#öì‰þîû ö„þy˜ öîûŸ›!Ýþ “þy›yöìÝþ îöì’Åîû £ëû Úé

(A) ›yœöìî!îû öîûŸ›

(B) þ“þ¢îû öîûŸ›

(C) þ~!îû öîûŸ›

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû

2. The “fowl cholera” disease of poultry caused by —

(A) Bacteria

(B) Virus

(C) Protozoa

(D) Fungi



P.T.O.

(  2  )

2Ð ›%îû!†îû òòšþyvþzœ „þöìœîûyóó öîûy† ¢,!ÜTîû ‹˜Ä ”yëû# ‹#îy’%!Ýþ £óœ éôôôé

(A) îÄy„þöìÝþ!îûëûy

(B) þ¦þy£zîûy¢

(C) þö²ÌyöìÝþyöì‹yëûy

(D) Šéey„þ

3. Which cow breed is known as milch breed?

(A) Hallikar

(B) Amritmahal

(C) Red sindhi

(D) Kangayam

3Ð öþ„þy˜ ²Ì‹y!“þîû †îû&!Ýþ x!•„þ ”%?þ vþzêþ™y”þ˜„þyîû# Ú

(A) £y!œ„þyîû

(B) þx›,“þ›£œ

(C) œyœ !¢!õþ

(D) „þy˜†yëûy›

4. Insecticides destroy 

(A) Muscle System

(B) Reproductive System

(C) Nervous System

(D) Respiratory System

4Ð „þ#Ýþ˜yŸ„þ éôéö„þ !î˜ÜT „þöìîûÐ

(A) öþ™Ÿ# “þsþf

(B) ‹˜˜ “þsþf

(C) ßþ¬yëû% “þsþf

(D) Ù»¢˜ “þsþf
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5. Find the mode from following data —

5, 6, 2, 8, 9, 5, 7, 8, 5, 2, 1, 5, 4

(A) 6

(B) 5

(C) 8

(D) 2

5Ð ˜#öì‰þîû “þíÄ öíöì„þ ö›yvþ (mode) !Ýþ !˜’Åëû „þöìîûy éôôôé

5, 6, 2, 8, 9, 5, 7, 8, 5, 2, 1, 5, 4

(A) 6

(B) 5

(C) 8

(D) 2

6. The urban vector of Plasmodium vivax is —

(A) Anopheles fluviatilis

(B) Anopheles culicifacies

(C) Anopheles stephensi

(D) Anopheles minimus

6Ð Plasmodium vivax ~îû Ÿýöìîû ö¦þQîû £óœ éôôôé

(A) Anopheles fluviatilis

(B) Anopheles culicifacies

(C) Anopheles stephensi

(D) Anopheles minimus

7. The specific site of antibody which is responsible for binding of an antigen molecule is
known as —

(A) Epitope

(B) Paratope

(C) Idiotope

(D) Idiotype
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7Ð xÄy!rÝþî!vþîû !˜!”ÅÜT ßþiy˜ ëy xÄy!rÝþöì‹˜ x’%îû ¢öìD xyîkþ £îyîû ‹˜Ä ”yëû# “þyöì„þ îœy £ëû éôôôé

(A) ~!þ™öìÝþyþ™

(B) þ™ÄyîûyöìÝþyþ™

(C) £z!vþçöìÝþyþ™

(D) £z!vþçìÝþy£zþ™

8. T cells and B cells are originated in —

(A) Spleen

(B) Thymus

(C) Bone marrow

(D) Lymph nodes

8Ð T ö„þyŸ ~î‚ B ö„þyŸ vþzêþ™§¬ £ëû éôôôéé

(A) ²Õ#£y

(B) íy£z›y¢

(C) x!ßþi›Iy

(D) !œÁ³þöì̃ yvþ

9. Usually viruses are separated into several large groups based primarily on —

(A) Nature of the host

(B) Characteristics nucleic acid

(C) Capsid symmetry

(D) Diameter of the viroin or nucleocapsid

9Ð ¢y•yîû’“þ ¦þy£zîûy¢=!œöì„þ ²Ìyí!›„þ¦þyöìî !„þöì¢îû vþzþ™îû !¦þ!_ „þöìîû „þöìëû„þ!Ýþ îvþü @ùÌ&öìþ™ !î¦þ_« „þîûy £ëû éôôôé

(A) ö£yöìÞÝþîû ²Ì„,þ!“þ

(B) !˜vþz!„Ïþ„þ xÄy!¢vþ ÷î!ŸÜTÄ

(C) „þÄyþ™!¢vþ ²Ì!“þ¢y›Ä

(D) !¦þ!îûëû̃  îy !˜vþz!„Ïþç„þÄyþ™!¢öìvþîû îÄy¢
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10. In a relationship, when both organisms are equally benefitted, the relationship is said to
be as —

(A) Amensalism

(B) Mutualism

(C) Parasitism

(D) Commensalism

10Ð ~„þ!Ýþ ¢Á™öì„Åþ ë…˜ vþz¦þëû ‹#î ¢›y˜¦þyöìî vþzþ™„,þ“þ £ëû– “þ…˜ ¢Á™„Åþ!Ýþöì„þ îœy £ëû éôôôé

(A) xÄyöì›˜¢y!œ¢›

(B) ¢£yîßþiy˜

(C) þ™îû‹#!î“þy

(D) ¢£öì¦þy_«y

——————
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Paper Code : ZGT - VII - B

(Marks : 40)

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

Unit - 1 : Applied Zoology and Biostatistics

1. Answer any two questions : 4×2=8

(a) Write a short note on any one disease of fish mentioning causative agent and
symptoms.

(b) What is pest? Mention the nature of damage of Sitophilus oryzae. 1+3

(c) Distinguish between mulberry and non-mulberry silk.

(d) What is royal jelly? Mention the chemical composition of honey. 2+2

2. Answer any one question : 12×1=12

(a) Give a brief account of behaviour and nature of damage of a mammalian pest. How
this pest can be controlled? 4+4+4

(b) What is median? State the formulas. Oxygen consumption of 8 fishes was recorded
as — 35, 44, 38, 36, 39, 40, 42 & 41. Find median from the given data. Distinguish
between standard deviation and standard error. 1+2+5+4

(c) Give a brief account of method of insertion of nucleus during artificial pearl culture.
State the uses of pearl. Write down the advantages of induced breeding. 6+3+3

Unit - 2 : Microbiology, Parasitology and Immunology

3. Answer any two questions : 4×2=8

(a) Write a short note on the role of ticks in the transmission of disease.

(b) Tabulate different classes of immunoglobulin and their functions.

(c) Write briefly on mutualism and commensalism with suitable example. 2+2

(d) Write a short note on ex-flagellation of Plasmodium vivax.

4. Answer any one question : 12×1=12

(a) What is T-lymphocyte and B-lymphocyte? Mention their specific role in acquired
immunity. 3+3+6

(b) Give a brief account on bacterial classification on the basis of their shape. Describe
the phases involved in bacterial growth curve. 8+4

(c) State briefly the pathogenicity and controlling measures of typhoid. Give a brief
account of life cycle stages of Wuchereria bancrofti. 6+6
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Unit - 1 : Applied Zoology and Biostatistics

1. öë ö„þyöì̃ y ”%ó!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

(a) öîûy† ¢,!ÜT„þyîû# ‹#îy’%îû ˜y› ç öîûyöì†îû œÇþ’ vþzöìÍÔ… „þöìîû ›yöìŠéîû öë ö„þy˜ ~„þ!Ýþ öîûy† ¢Á™öì„Åþ Ýþ#„þy
öœöì…yÐ

(b) öþ™ÞÝþ „þ# Ú Sitophilus oryzae ~îû Çþ!“þîû ²Ì„,þ!“þ vþzöìÍÔ… „þöìîûyÐ 1+3

(c) ›yœöìî!îû ~î‚ ˜ é̃ôé›yœöìî!îû !¢öìÍñîû ›öì•Ä þ™yíÅ„þÄ öœöì…yÐ

(d) îûy‹„þ#ëû ö‹!œ „þ# Ú ›•%îû îûy¢yëû!˜„þ †àþ˜ vþzöìÍÔ… „þöìîûyÐ 2+2

2. öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 12×1=12

(a) ~„þ!Ýþ hßþ˜Äþ™yëû# öþ™öìÞÝþîû xy‰þîû’ ~î‚ Çþ!“þîû ²Ì„,þ!“þîû ~„þ!Ýþ ¢‚!Çþ® !îîîû’ ”yçÐ „þ#¦þyöìî ~£z öþ™ÞÝþ
!˜ëûsþf’ „þîûy ëyëû Ú 4+4+4

(b) ›•Ä„þ (median) „þ# Ú ~îû ¢)e=öìœy î’Å˜y „þöìîûyÐ 8!Ýþ ›yöìŠéîû x!:öì‹˜ …îû‰þ öîû„þvÅþ „þîûy £öìëûöìŠé éôôôé
35, 44, 38, 36, 39, 40, 42 ~î‚ 41Ð ²Ì”_ “þíÄ öíöì„þ ›•Ä„þ (median) !˜’Åëû „þöìîûyÐ xy”ŸÅ
!î‰%þÄ!“þ (standard deviation) ~î‚ ›y˜ e&!Ýþîû (standard error) ›öì•Ä þ™yíÅ„þÄ öœöì…yÐ 1+2+5+4

(c) „,þ!e› ›%_«y ‰þyöì¡ìîû ¢›ëû !˜vþz!„Ïþëûy¢ ¢!§¬öìîöìŸîû þ™kþ!“þîû ¢‚!Çþ® !îîîû’ ”yçÐ ›%_«yîû îÄî£yîû î’Å̃ y
„þöìîûyÐ ²Ìöì’y!”“þ ²Ì‹˜öì̃ îû ¢%!î•y=!œ öœöì…yÐ 6+3+3

Unit - 2 : Microbiology, Parasitology and Immunology

3. öë ö„þyöì̃ y ”%ó!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

(a) öîûy† ¢‚e«›öì’ !Ýþ„þ (tick) ~îû ¦)þ!›„þy ¢Á™öì„Åþ ~„þ!Ýþ ¢‚!Çþ® Ýþ#„þy öœöì…yÐ

(b) !î!¦þ§¬ ö×’#îû £z!›vþzöì̃ yöì@Õy!îvþz!œ˜ ~î‚ “þyöì”îû „þyëÅ„þy!îû“þyîû “þy!œ„þy „þöìîûyÐ

(c) vþzþ™ë%_« vþz”y£îû’ ¢£ ¢£yîßþiy˜ (mutualism) ~î‚ ¢£öì¦þy_«y (commensalism) ¢Á™öì„Åþ ¢‚öìÇþöìþ™
öœöì…yÐ 2+2

(d) ²Õy‹öì›y!vþëûy› ¦þy£z¦þÄyöì:îû ~:éôéšÏþÄyöì‹öìœŸ˜ ¢Á™öì„Åþ ~„þ!Ýþ Ýþ#„þy öœöì…yÐ

4. öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 12×1=12

(a) éTôé!œöìÁ³þy¢y£zÝþ ~î‚ Béôé!œöìÁ³þy¢y£zÝþ „þ# Ú x!‹Å“þ x˜ye«›Ä“þyëû “þyöì”îû !˜!”ÅÜT ¦)þ!›„þy vþzöìÍÔ… „þöìîûyÐ
3+3+6

(b) xy„þyöìîûîû !¦þ!_öì“þ îÄy„þöìÝþ!îûëûy ö×’#!î¦þyöì†îû ~„þ!Ýþ ¢‚!Çþ® !îîîû’ ”yçÐ îÄy„þöìÝþ!îûëûy î,!kþ öîû…yîû !î!¦þ§¬
þ™ëÅyëû=!œ î’Å̃ y „þöìîûyÐ 8+4

(c) Ýþy£zšþöìëûöìvþîû öîûy†¢,!ÜTîû Çþ›“þy ~î‚ !˜ëûsþföì’îû îÄîßþiy ¢‚öìÇþöìþ™ öœöì…yÐ Wuchereria bancrofti ~îû
‹#î˜‰þöìe«îû þ™ëÅyëû=!œîû ¢‚!Çþ® !îîîû’ ”yçÐ 6+6

——————


